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SECTION A : THE CASE STUDY QUESTIONS ARE COMPULSORY.

QUESTION 1.

Read the case study carefully before you attempt the case study questions.
Planning for diversified activities in a changing environment.

Thulani Ntokozo is CEO of a diversified conglomerate incorporated (DCI), a leader in air
compressors and basketball backboards, both low growth industries and coffee imports, a
high growth industry. In addition DCI has a substantial presence in baby beds and inner-
spring mattresses and has recently started ventures in biotechnology and retailing gourmet
coffee; other ventures are planned also. DCI is a company with many diverse people involved

in different projects.

The CEO has a problem that is solely a function of DCI’s diversification. He needs to be able
to allocate resources across a wide range of businesses that do not have much in common .He
must compare baby beds with air compressors ,and he needs a language of some sort to make

such comparisons.

Dlamini Ndabambi is the division manager at DCI responsible for baby beds. The business is
in a difficult position. After years of flat sales, the market for baby beds has been growing for
several years because baby-boom women have been starting families. However an increasing
share of that market is going to Manzini-Mart, Mbabane-Mart and Shoprite ~the large
retailers in the Republic of Kwaluseni. DCI manufactures the wooden parts of the beds but
buys the brackets and other metal parts. Recently, one source of supply went out of business,
leaving only one South African firm and one Mozambique firm capable of supplying the
quantity of parts that DCI needs. There are also several new companies in the industry that
have more features than DCI’s best bed and that command premium price. Moreover,
Dlamini Ndabambi suspects that the Zimbabwean supplier is set to ender the South African
market with two products that would compete directly with his low-ends beds. To ice the
cake, a recent study questioned the use of baby beds or cribs altogether, touting a new idea —
the infant sleep carousel-as producing a happier baby. Both the CEO and the division

manager have strategic problems that are of utmost importance to DCL



CASE STUDY QUESTIONS.

a. Place DCI’s business units using the BCG matrix model and explain how this model
works (7 marks)

b. With the use of examples from the case please explain the concepts of related and

unrelated diversification clearly articulating their advantages and disadvantages.

(6 marks)

c. Assuming that DCI’s structure was product based what would its basic structure look
like? Explain the advantages of product based departmentalisation? (12 marks)
[Total Marks 25]



SECTION B.

ANSWER [3] QUESTIONS OF YOUR CHOICE FROM THIS SECTION. EACH
QUESTION CARRIES 25 MARKS.

QUESTION 2

What is controlling, what purpose does controlling serve and what are the stages of the

controlling process? [25 Marks]
UESTION 3

Write notes on the following management related concepts;

a. Quality Attributes ( 6 marks)
b. BRICS (6 marks)
¢. BBBEE { 6 marks)
d. Project Management (7 marks)
[Total Marks 25]
QUESTION 4

Explain the following business management concepts in a manner that convinces the reader

that you know these concepts well;

i) Porter’s Five Forces Model. (9 marks).

(ii)  Coordination and Decentralisation (8 marks)

(iii) - What are SMART-B objectives? (8 marks)
[Total Marks 25]



QUESTION 5.

a. Delegation does not relieve managers of their responsibilities and accountability,

yet some managers still resist to delegate. What reasons are often given for this

kind of behaviour and are they justified? (15 marks).
b. Say who Igor Ansoff is and explain his planning model. (10 marks).
[Total Marks 25]

END OF EXAMINATION: GOOD LUCK!!!



